pr [GeV/(]

Ap(B") 55 Tov

Ap (BO) s=8 TeV

(0.00,2.00)
(2.00,4.50)
(4.50,7.00)
(7.00,8.25)
(8.25,9.50)
(9.50,10.75)
(10.75,12.00)
(12.00, 15.00)
(15.00, 30.00)

—0.0105 £ 0.0045 £ 0.0031
—0.0033 £ 0.0026 £ 0.0031
—0.0093 £ 0.0029 £+ 0.0032
—0.0094 £ 0.0051 = 0.0033
—0.0126 £ 0.0061 £ 0.0033
—0.0073 £ 0.0073 £ 0.0034

0.0036 £ 0.0090 £ 0.0034
—0.0082 £ 0.0079 £+ 0.0035
—0.0251 £ 0.0095 £ 0.0040

0.0065 £ 0.0230 + 0.0017
—0.0188 £ 0.0103 £ 0.0009
—0.0111 £ 0.0092 £ 0.0011
—0.0192 £ 0.0141 £ 0.0015

0.0015 £ 0.0155 4= 0.0009
—0.0156 £ 0.0177 £ 0.0013

0.0017 £ 0.0210 £ 0.0027
—0.0270 £ 0.0171 £ 0.0009

0.0137 £ 0.0177 = 0.0009



